@ epd-norway

Global Program Operator

Lclipse 40

PD Foundatio



General information

Product:

Rockfon® Contour 50 A, Fibral 20, Fibral 25, Humitec Baffle,
Industrial Baffle, Universal Baffle, Eclipse Colour, Eclipse
White.

Program Operator:

The Norwegian EPD Foundation

Post Box 5250 Majorstuen, 0303 Oslo, Norway
TIf: +47 23 08 80 00

e-mail: post@epd-norge.no

Declaration Number:
NEPD-5341-4660-EN

This declaration is based on Product Category

Rules:

CEN Standard EN 15804+A2 serves as core PCR, NPCR Part A
Construction products and services and NPCR 012:2018
version 2.0 Part B for Thermal insulation products, 2022

Statements:

The owner of the declaration shall be liable for the underlying
information and evidence. EPD Norway shall not be liable
with respect to manufacturer, life cycle assessment data and
evidence.

Declared unit:

1 m? of installed acoustic ceiling tile or wall panel with a
service life of 60 years and a declared acoustic performance,
when relevant.

Declared unit with option:

Functional unit:

Verification:

Independent verification of the declaration and data,
according to [S014025:2010

internal external [X

Jane Mderrit,

Jane Anderson, ConstructionL.CA Ltd

Independent verifier approved by EPD Norway

EPD for the best environmental decision

Owner of the declaration:
Rockfon (part of ROCKWOOL Group)
Contact person: Kasper Vibaek
Phone: +45 6194 6424

e-mail: kasper.vibaek@rockfon.com

Manufacturer:

Rockfon (part of ROCKWOOL Group)
Hovedgaden 501, DK-2640, Hedehusene

Place of production:
Cigacice, Poland / Roermond, Netherlands

Management system:
IS0 14001, ISO 9001

Organisation no:
CVR.nr. 42391719

Issue date:
08.11.2023

Valid to:
08.11.2028

Year of study:
2022

Comparability:

EPD of construction products may not be able to
compare if they do not comply with EN 15804 and

are seen in a building context.

The EPD has been worked out by:
Nikolaos Emmanouil, ROCKWOOL A/S

= VN ROCKWOOL

o, B,

Approved (Manager of EPD Norway)



Product

Product description and use of the EPD:

Rockfon® Baffles and Islands stone wool acoustic tiles, are firesafe materials traditionally made
from volcanic rock (typically basalt or dolomite), an increasing proportion of recycled material, and
a low percentage of binder.

The essential component of Rockfon tiles are stone wool fibres, which are monofilament synthetic
mineral fibres of non-crystalline structure extracted from a silicate melt. The products described
in this EPD are produced in the form of tiles in various densities. The products are supplied in
thicknesses of 20 mm up to 50 mm.

The packaging is included in the assessment. Any facings that may be applied to the products, such
as glass fleece and aluminium foil and water-based paint for coating are included in this EPD.
Results are declared with the corresponding facing option applied.

Product specification:

The average composition used for Rockfon products is calculated based on average factory
consumption figures for raw materials as a conservative approach. The main raw materials are
non-scarce stones and briquettes, which are made of rock mineral wool waste, cement, and other
materials. The binder is a water-based phenol-formaldehyde resin which is polymerized into solid
resin during production of the final stone wool product.

%

Stone wool 73-97 Core insulation material
Mineral oil <0,2 Water repellent
Binder, a thermoset inert polymer resin <4 Structural binder
Non-woven glass wool facing (optional) 1-15 Facing
Aluminium foil 0-1 Sound blocker
Glue 0,01 Glue
Water-based paints 0-16 Decorative finishing

Technical data:

For the placing on the market of the product in the European Union/European Free Trade
Association (EU/EFTA) (with the exception of Switzerland) Regulation (EU) No. 305/2011 (CPR)
applies. The product needs a declaration of performance taking into consideration EN 13964:2014
or EN 13162+A1:2015 and the CE-marking.

Baffle and Island products include acoustic ceiling tiles, and they are available with different
coatings and facings in a variety of shapes, thicknesses, and densities.

For application and use the respective national provisions apply. The technical specifications for
the products described in the EPD are given by the range below based on the reference standards.
For the product specific characteristics please refer to the manufacturers' specifications, available
online in https://www.rockfon.com/.

EPD for the best environmental decision 3



Parameter Performance Reference Standards

Sound absorption coefficient (aw) NPD EN 13964
Thermal conductivity NPD EN 13964
Airborne sound reduction Upto42 dB EN [SO 10848-2 and EN ISO 717-1
Reaction to Fire Al EN 13964
Sound absorption class NPD EN 13964

Performance data of the Rockfon stone wool products are in accordance with the declaration of
performance with respect to its essential characteristics according to EN 13964:2014. Emission
tests according to EN 16516:2018 are available from the national technical manager

Market:

This EPD is intended for main market areas in Europe, Middle East and Asia that receive products
from the factories in Cigacice in Poland, and Roermond in Netherlands. The EPD can also be used
in other markets that receive products from these factories .

Reference service life, product:

Areference service life according to ISO 15686 is not declared for this EPD. Instead, a service life is
declared according to BBSR. According to this, mineral panels have a service life of more than 50
years in a building. For this EPD the declared value is therefore 60 years.

The mineral wool core in Rockfon products is tested to maintain its properties for at least 50 years.
Additionally, Baffle and Island products are tested to maintain flatness even in high temperature/
high humidity environments (40°C / 95 % relative humidity). Given this, there is no doubt that
Rockfon ceiling tiles could have a technical lifespan of more than 50 years in a normal indoor
environment.

Some owners will replace the Rockfon product due to renovations or aesthetics, but not for

EPD for the best environmental decision 4



LCA: Calculation rules

Declared unit:
The declared unit is 1 m2 of installed acoustic panels, with a service life of 60 years. This product
family specific EPD will illustrate results per product without the use of scaling factors.

A table with the different products available in the portfolio and their respective thicknesses,
weight and acoustic performance is provided under ‘additional technical information’ section.

Declared Unit 1 m?
Grammage From1,7t09,0 kg/m?
Thickness of the panels From 20 to 50 mm

Data quality:

cener4lly assessed as goodd and verv good. Primary datz is collect=d Jrom respective procuction
sites in Cigacice, Poland, and in Roermond, Netherlands for the reference year 2022 and represents
stabilized production. Generic data is from LCA FE (GaBi) database (version 2023.1) with LCA FE
(GaBi) Software version 10.7.1.28.

Allocation:

The allocation is made in accordance with the provisions of EN 15804. Production activities,
electricity and energy consumption and waste generation are allocated equally among all products
from the production site through mass allocation. The environmental impact of co-products coming
for example from the steel and electricity plants (e.g. slags, alumina and ashes entering the system
as inputs to the manufacturing) is accounted for and economic allocation is applied.

System boundary:

EPD type: Cradle-to-grave and module D (A, B, C and D). All relevant life cycle stages are included.
All major raw materials, energy, electricity use, and waste are included for all life cycle modules, as
shown in the flowchart below. Use stage B1-7 modules are considered but are not relevant, as there
are no activities and no significant environmental impact in the use stage.

EPD for the best environmental decision 5



1" A Production
A1-A3 B Use

Energy Primary Materials Waste / Alternative Internal waste materials, waste | C End of Life
(Extraction#+Transport+ (Extraction+Transport+ materials & fuels wool from construction site {free of L EEEEE e
Transformation) Transformation) (free of env. burden) env. burden, e.g., recycled wool) | D Loads &
2 P | Benefits beyond
Briquette production i End-oflwaste | system
_____ {applics.only tnaddobonst inpeitsl—" "} staps

s
Stone wool production

Binder components & GRS
additives

Other waste

—

|

I

I

I

|

I

I

I

|

I

I

| 9

|

I

| e

: Gutling Aechiaty Feadcts Allocation
i (e.g., pig iron)

|

| it

U

I

|

|

I

I

I

|

I

I

I

|

I

I

I

|

Finishil
& Emissions to
and wat

Transport

Packaging materials Packing

e Wool cut offs to landfill
Transport to site A5 A5

Treatment End-of-
Trans,(_mr_llo Reoycling
Installation Packaging waste EoL Landfilling
A5
Wooal cut offs to Transport to the factory
recycling (take back system)

Benefits from

recycling/
treatment

Production
The product stage A1-A3 includes:

e Provision of preliminary products and energy and relevant upstream processes;

e Transporting the raw materials and preliminary materials to ROCKWOOL production
facilities;

e Production process in the ROCKWOOL production facilities including energy inputs and
emissions;

e Electricity consumption;

e Waste processing up to the end-of-waste state or disposal of waste residues, during the
production stage;

e Production of packaging material;

e Manufacturing of products and co-product.

Recycled stone wool comes free of environmental burden, as it enters the product system as waste
in module Al. The end-of-waste status is considered to be at the factory gate, hence its transport to
the factory is accounted for. Modules A1, A2 and A3 are declared as an aggregated module A1-A3.

Construction/Installation
The Construction Stage A4-A5 includes:

. A4 transport to the building site.
. A5 installation to the building.

The transport in A4 is modelled based on volume. The values are based on annual average delivery
data. In A5 the default installation is assumed to be manual, therefore no energy consumption or
ancillary equipment is needed.

The product waste from installation is assumed to be 7% and according to the modularity principle
of EN 15804, its impacts are fully allocated to A5. The 7% assumption is used based on the
"common scenarios for LCA" internal document from EURIMA (European Insulation Manufacturers

EPD for the best environmental decision 6



or disposal of finai residues Juring th e consiruction precess stage £ +d "mpacts ar d aspects relzted
to product losses during installation. For this EPD, module A5 includes the corresponding end-of-
life considerations for packaging, which are modelled based on EUROSTAT (2020) statistics. The
assumed scenario for installation cut-offs at module A5 is 97% landfill, while the rest 3% waste
wool returns to ROCKWOOL factories for recycling through the ROCKWOOL/Rockfon recycling
service offering (Rockcycle®). The transportation impacts of take back wool from the installation
phase is accounted for in module A5.

Building Use
The use-stage B1-B7, related to the building fabric includes:

e Bl use or application of the installed product -not part of this EPD;
¢ B2 maintenance;

B3 repair;

B4 replacement;

B5 refurbishment;

B6 - Operational energy use:

B7 - Operational water use:

ROCKFON stone wool ceiling tiles are installed permanently in the structure and do not require
maintenance, repair, replacement, or refurbishment under normal use conditions. Similarly,
ROCKFON products do not require any operational energy or water consumption during use
phase.

End of Life
The End-of-life stage C1-C4 includes:

e (1 deconstruction, demolition;

e (2 transport to waste processing;

e (3 waste processing for reuse, recovery and/or recycling;
e (4 disposal.

These stages also include the provision and all transport, provision of all materials, products and
related energy and water use. Manual deconstruction is assumed for C1, and no impacts are
assigned.

Module D

Module D includes reuse, recovery and/or recycling potentials expressed as netloads and benefits.
Here the credits from heat and electricity recovery from incineration or material recycling of
packaging disposal in A5 and benefits from returned waste wool are considered.

Cut-off criteria:

All major raw materials and all the essential energy are included. The production process for raw
materials and energy flows that are included with very small amounts (<1% energy, mass, impact)
are not included. This cut-off rule does not apply for hazardous materials and substances. Data sets
are complete according to the system boundary within the limits set by the criteria for the exclusion
of inputs and outputs. All relevant data, all applied materials according to the recipe and the energy

EPD for the best environmental decision 7



LCA: Scenarios and additional technical information

The following information describe information used for the development of scenarios in the
different modules of the EPD.

Transport from production facility to assembly/user (A4)

Capacity utilisation (incl. Distance Fuel/Energy value
return) % Type of vehicle KM consumption 1/t

Euro 6, with a Diesel: 0,023
17,3 payload 1/tkm

The A4 distance is calculated as a weighted average distance

Truck 85

Product Name Weighted average transport distance (km)

Contour 50 A 405
Fibral 20 261
Fibral 25 261
Humitec Baffle 405
Industrial Baffle 394
Universal Baftle 405
Eclipse Colour 405
Eclipse White 405

Assembly /Installation (A5)

Auxiliary Kg NA
Water consumption m3 NA
Electricity consumption kWh NA
Other energy carriers M]J NA
Material loss Kg 7%
Output materials from waste treatment Kg 0,0962
Dust in the air Kg NA

Use stage (B1, B2, B3, B4, B5, B6, B7)
(B%] during the use of th rmiz} insulation products in stsndard condition . Thay Jo potuse energy

(B6) or water (B7) during their operational life. There are no emissions released from the product
during the use stage (B1). Therefore, modules B1-B7 have zero impacts.

EPD for the best environmental decision 8



End of Life (C1, C3, C4)

Hazardous waste disposed % 0
Collected as mixed construction waste % 100
Reuse % 0
Recycling % 0-2
Energy recovery % 0

To landfill % 98 -100

For some markets, a take back system is established for Rockfon ceiling tiles as part of
ROCKWOOL’s Rockcycle® takeback-system. This service, allows the recirculation of post-
consumer (EoL) stone wool-based ceilings tiles back to the supply chain, through an energy
efficient process that reduces the amount of raw materials extracted, the amount of waste sent to
landfill and the amount of energy materials needed at the melting stage. Recycling volumes vary
considerably between markets over the years but are generally growing. As Rockfon tiles are often
mixed with other stone wool material when collected for recycling exact volumes are presently
hard to track, but a conservative estimate is 0-2%. Rockcycle® also allows the collection and
ontinuouws focus on circularity, while aiming at zero-waste consivuction sites and increased
recycled content in our products.

Transport to waste processing (C2)

Capacity utilisation (incl. Type of L Fuel/Energy value
return) % vehicle Distance KM consumption (/1)

Truck, with a Diesel:

0
50% 173t 50 km 0,035 I /tkm 1,751/t
payload

Truck,
Euro 6

The transport to landfill is assumed to be 50 km.

Rockcycle® take back system is expected to increase in the following years. If a Rockcycle® take
back system is established for stone wool waste and recycling of stone wool, as in the Dutch factory,
the following scenario can be used.

Capacity utilisation (incl. Type of L Fuel/Energy value
return) % vehicle Distance KM consumption (/1)
Truck, with a
Truck , Diesel:
! 0,
Buro € 50% 173t 261 km 0,035 I /tkm 9,11/t

payload

Benefits and loads beyond the system boundaries (D)

Packaging recycled kg 0,15-0,57
Energy recovered M] 0,38-1,45
Stone wool for recycling kg 0-0,01

Benefits in module D are created from packaging materials treatment after installation and

EPD for the best environmental decision 9



recycled materials and materials sent for energy recovery. Recycling potential of net stone wool
material is considered here.

Additional technical information
Below there is a list of Baffles and Islands products covered by this EPD with their respective sound
absorption class, thickness, and weight.

50 6,5

Contour 50 A NPD

Fibral 20 NPD 20 2,1
Fibral 25 NPD 25 2,5
Humitec Baffle NPD 50 4,0
Industrial Baffle NPD 50 4,0
Universal Baffle NPD 50 4,0
Eclipse Colour NPD 40 6,5
Eclipse White NPD 40 6,5

For discrete elements, like Islands and baffles, the aw coefficient is not used to indicate the sound
absorption performance. Instead, the Aeq is used, which is defined as the equivalent absorption
surface. The equivalent absorption surface is considering an imaginary surface with an absorption
coefficient of 1, and results to an equivalent absorption class, similar to the actual surface of the
sound absorber. The equivalent absorption surface is always given in m2. For this reason, for the

EPD for the best environmental decision 10



LCA: Results

Limitations
Conservative choices are made in the LCA as described in the ROCKWOOL® Group LCA rules.
Therefore, the results can be considered to be conservative and worst case.

System boundaries (X=included, MND= module not declared, MNR=module not relevant)

Benefits &
loads
Use stage End of life stage beyond
system
boundary

Production Assembly

stage stage

: 1

s Bp

2 g = =

= = ° ap 2

= 2 ) = = B3 o) =) = ]
© e 1S e > o =] ) — 2 ) = a 9
= 5 = S = g E & ¢ © 5 g g s
2 a2 B o = @ o T s G © = 5 = 3 =
< ©n < ©n n Q a, o -2 — = = 4] [ a. o3
£ < g < Q =] = () I 2 < & B = o, Z >
o = s 7 £ ~ = p = 5 < A s
2 = s = < T S 2 © ] 2 = 3 A O g,

o] o = ~ 5] = B i) %) Q

& = x B8 £ - < =

o 3 ° = )

5 o 9 5

© ) )

a a2

Al A2 A3 A4 A5 Bl B2 B3 B4 B5 B6 B7 (Cl1 (C2 (C3 C(C4 D

X X X X X X X X X X X X X X X X X

EPD for the best environmental decision 11



721 UOISIDIP [LIUSWUOIIAUD 3S9q 93 0] 0dT

00+300°0 00+200°0 00+300°0 00+300°0 00+300°0 00+200°0 00+300°0 00+200°0 o)

00+300°0 00+400°0 00+300°0 00+300°0 00+300°0 00+400°0 00+300°0 00+400°0 %)

00+300°0 00+200°0 00+300°0 00+300°0 00+300°0 00+200°0 00+300°0 00+200°0 L1d [b> 20D 5]
10-964'L 10-46.L'L 10-955% 10-955% 10-3¥5% 10-465C 10-980°C 10-964'L SV drus5o1q - dMD
00+300°0 00+200°0 00+300°0 00+300°0 00+300°0 00+200°0 00+300°0 00+200°0 a4

00+390°T- 00+350'T- T0-HEH'S- 10-99£'9- 10-385'- 10-955'- 10-9ST'E- 00+300°T- €1V

* (239 ‘Bul[ypue] ‘Uonsnquuod ‘5-9) sedurIsqns SUIUTEIUOD UOG.IED [[SSO] 10 S[oN] [ISSOJ UL0.1J SUOISSIUID SES asnoyuaais Jo 4D 93 JUNOIIE OJUL S E) [ISSOJ-dMD

T0-4%S°Z- TO-A+SZ- T0-A8%'T- T0-48%'T- T0-48%'T- Z0-405'8- Z0-9089- T0-A+SZ- a

TO-ATT'T TO-4L0T Z0-30T'9 Z0-9L9'9 Z0-916'S Z0-98€Y z0-958°€ T0-4%0'T ¥

00+300°0 00+300°0 00+300°0 00+300°0 00+300°0 00+3000 00+300°0 00+300°0 €J

z0-98¢'€ Z0-36T°S Z0-30ST Z0-30€'Z Z0-9€S'T Z0-dLST Z0-9€ST z0-9%8C 20

00+300°0 00+300°0 00+300°0 00+300°0 00+300°0 00+3000 00+300°0 00+300°0 10 [b> 20D Bl
[Issoq4-dm9d

00+300°0 00+3000 00+300°0 00+300°0 00+3000 00+3000 00+300°0 00+300°0 L-1d

T0-480°9 T0-4809 TO-ATS'E TO-A%S'E TO-ATZ'E TO-4L6T T0-48S'T T0-4809 v

TO-HET'Y T0-4L8°E TO-49LT T0-486'C T0-4%8T TO-AELT TO-HLLT T0-40%'E 144

00+405L 00+3SE'L 00+3%0'F 00+49L¥ 00+HLS'E 00+H90°E 00+489°C 00+3.L0°L €1V

jonpoad ay) Y3Im pajeIdosse sUOISSIWD sef asnoyuaals 1ayjo pue (20)) apIXol(q U0gIe) Y} Sa.Inseai JMD ON[N] JMD pue d1uasorq-JMo ‘[ISS0J-dMD JO wins ay} sI [e10)-[e}UI0J SuruLiepy [eqo[n

T0-402°S- T0-40Z°S- T0-A£0°E- TO-4£0°€- T0-4£0°E- TO-AYLT- T0-46€£T- T0-40Z°S- a

TO-dELT T0-469°C TO-ATS'T TO-AT9'T T0-48€'C AV VAV Z0-39T1'9 T0-499°C ¥

00+300°0 00+300°0 S0-30%'6 00+300°0 00+300°0 $0-498°S 0-369'% 00+300°0 €J

Z0-ATH'E AV FAA Z0-AT1ST z0-97€'T z0-9%S'T z0-38ST Z0-4SST z0-1.8°C )

00+300°0 00+300°0 00+300°0 00+300°0 00+300°0 00+3000 00+300°0 00+300°0 10 FQM\M\UMM&H
00+300°0 00+3000 00+300°0 00+300°0 00+3000 00+3000 00+300°0 00+300°0 L-1d

00+46ET 00+36ET T0-4.0°8 T0-407'8 T0-49L°L TO-4LSF T0-459°€ 00+46ET v

T0-48T°C T0-ASTZ TO-ALT'T TO-AEET TO-ATZ'T z0-925'S Z0-918'% T0-40TZ 144

00+39%9 00+HdTE9 00+405°E 00+360'F 00+3T6'C 00+HdTLT 00+ LET 00+480°9 €1V

aMym asdipg | Jmojo) asdipy [eLasnpuj 231Ny [eSI9ATUN) SZ [eaqrg 07 [eaqrg V 05 Inojuo) I219Weled

Buopf buipnpoul zui T Jo 31un pa.apjoap b ul passaddxa onpodd yova 4of pajuasa.ad aup synsay
s103ed1pul 10ed Wl [EIUSWUOIIAUS 3107



00+300°0
SO-ATT'Y
00+300°0
00+300°0
€0-AL¥'E
¥0-4.8'F
z0-3972'S

Z1-982°T-
9T-40€'¥
00+300°0
ST-A£6'C
00+300°0
00+300°0
60-ATH'T
FT1-46S'S
80-4Z9'T

€0-450°T-
¥0-4SZ'S
00+300°0
¥0-40T'S
00+300°0
00+3000
€0-9%9'T
€0-36L'€
€0-96S'S

T0-459°C-
T0-429'T
00+300°0

00+3000
S0-468'S
00+3000
00+3000
€0-4LF'E
$0-495%
Z0-ATT'S

Z1-487°T-
9T-49T'%
00+300°0
ST-4LLT
00+300°0
00+3000
60-ATH'T
$T-39€'E
80-479'T

€0-450°T-
$0-4ST'E
00+300°0
$0-926C
00+300°0
00+300°0
€0-9%9°T
€0-995°S
€0-925'S

T0-459°C-
T0-429'T
00+300°0

00+300°0
S0-4%8'T
00+300°0
00+300°0
€0-966'T
¥0-4.40C
20-978°C

ET-A9%'L-
9T-ALET
00+300°0
ST-30€T
00+300°0
00+300°0
0T-4%1'8
I-42ST
60-47E6

uolje)sa.lojop S ‘9Suelp asn pue| pue asn pue| Jo }[NSA & St }D0)s UoqIed Ul seSueyd ur

$0-4ET'9-
¥0-46LT
00+300°0
¥0-48€T
00+300°0
00+3000
$0-361°6
€0-AT19'T
€0-3L0°E

T0-A%ST-
Z0-920°6
S0-30%'6

00+300°0
S0-308°C
00+300°0
00+300°0
€0-920°C
¥0-425'S
Z0-38T'E

ET-A9%'L-
9T-465C
00+300°0
ST-300°Z
00+300°0
00+300°0
0T-40Z'8
T1-465C
60-4L%'6

¥0-4ET9-
0-496'T
00+300°0
¥0-411C
00+300°0
00+3000
+0-4556
€0-9¥%L'T
€0-49%'€

TO-A+ST-
Z0-3%%'6
00+300°0

el

00+300°0
S0-88'T
00+300°0
00+3000
€0-4LLT
$0-491'C
20-9L%T

00+3000
S0-306'T
00+3000
00+3000
€0-450°T
¥0-3%0C
Z0-458'T

00+300°0
S0-458'T
00+300°0
00+300°0
$0-36£'8
¥0-460C
Z0-dA19T

00+300°0
S0-A8%'E
00+300°0
00+300°0
€0-AL¥'E
¥0-300'%
20-996'F%

UOISIDIP [LIUSWUOIIAUD 3S9q 93 0] 0dT

€J
)

10
['ba +H Jo a10n]

L-1d v

v
144
€1V

Aepo) uapplqloj ale saduelsqns J@O YSIH “1o4e] au0zo ay) Jo uoljepeisap 10] [enpuajod a1 seqLIdSap ‘Tenjuajod uone[deq suozg ayL

ET-A9%L-
91-462'C
00+300°0
ST-AEET
00+300°0
00+3000
60-4S0'T
$T-36S'T
80-4LZ'T

$0-4£19-
Y0-3vLT
00+3000
0-30%'T
00+3000
00+3000
€0-920'T
€0-369'T
€0-9£0'%

ET-49Z'%-
9T-40LT
00+3000
ST-49€T
00+3000
00+3000
0T-409'%
¥T1-30ST
60-46Z'S

¥0-405'¢-
¥0-46Z'T
00+300°0
Y0-3¥F'T
00+300°0
00+4000
0-HLL'E
€0-36ST
€0-480°C

ET-ATH'E-
9T-40S'T
00+300°0
ST-AEET
00+300°0
00+300°0
0T-489°¢
YI-3%ST
60-4SZ'F

¥0-408C-
YO-HETT
00+3000
YO-4T%T
00+3000
00+3000
¥0-420°E
€0-4£9°T
€0-48LT

Z1-982°T-
9T-4%0'F
00+300°0
ST-49%'C
00+300°0
00+300°0
60-ATH'T
1-3956C
80-4Z9'T

€0-450°T-
¥0-450°E
00+300°0
¥0-409°C
00+300°0
00+300°0
€0-9%9'T
€0-32T'E
€0-3LE'S

a
¥
€J

A
['ba TT-04D 84]

L dao

L-1d
v
144

€1V

0.1J suolssiua ses asnoyuaals Junosde ojul saxe) (onin() aSueyd asn pue| pue asn puel-dMDH

a
¥
€J

)
['b> z0D 8]

2 anm[ - dMo

L-1d
v
144

€1V

*Aed9p [eINjeU 10 UONIRIAUIDUI “§'9 SULINp pajIwa pue Ymo.S ssewiolq wolj pagrosqe o) dL1aydsounye ay) syuasaidal ouagoiq-dmH

T0-4%ST-
T0-46LT
00+3000

20-478'8-
z0-9.48°C
$0-498°S

20-490°L-
Z0-40€C
0-369F

T0-459°C-
T0-429'T
00+300°0

a
¥
€J



€0-452°C
00+300°0
¥0-40LT
00+300°0
00+300°0
£0-36%'6
€0-966'T
TO-40ET

$0-956°¢-
¥0-450C
00+300°0
SO-ATH'T
00+300°0
00+300°0
+0-302'9
¥0-3%9'T
€0-459°L

90-A£H'E-
L0-498'T
00+300°0
L0-42Z'T
00+300°0
00+300°0
90-45S°S
90-46%'T
S0-4.L%'9

%0-928°8-

¥0-306'L

€0-9LTC
00+3000
$0-419'T
00+300°0
00+3000
€0-96%'6
€0-998T
T0-48Z'T

¥0-456°¢-
$0-386'T
00+300°0
S0-A¥ET
00+300°0
00+3000
$0-3029
¥0-3%S'T
€0-46%'L

€0-9%2T
00+300°0
S0-399°L
00+300°0
00+300°0
€0-3¥%'S
¥0-45%'8
Z0-3%T'L

$0-40€Z-
YO-HETT
00+300°0
90-49€£9
00+300°0
00+300°0
$0-3%S'S
50-9869
€0-3%0'%

€0-49¢'T
00+300°0
¥0-49T'T
00+300°0
00+300°0
€0-9€S'S
€0-A¥%'T
20-998°L

¥0-40£C-
¥0-3%2'T
00+300°0
90-4656
00+300°0
00+300°0
$0-429°S
¥0-46T'T
€0-A%LY

a’

€0-302'T
00+300°0
S0-08'L
00+300°0
00+3000
€0-ATL'S
$0-3£8'8
Z0-3A8%'L

¥0-40€C-
$0-360'T
00+300°0
90-4L%'9
00+300°0
00+3000
$0-389°€
S0-362'L
€0-922'%

¥0-4768
00+3000
S0-A%8'L
00+3000
00+3000
€0-9£9°C
¥0-3€€8
20-360%

¥0-4ZET-
S0-ATT'8
00+3000
90-4TS9
00+3000
00+3000
¥0-449T
50-4889
€0-AEHT

$0-3E8'L
00+300°0
S0-479°L
00+300°0
00+300°0
€0-30TZ
¥0-455'8
Z0-30S'E

%0-490°T-
SO-HET'L
00+300°0
90-4££9
00+300°0
00+300°0
Y0-3¥ET
S0-390°L
€0-49T°C

€0-ATTZ
00+300°0
Y0-3¥¥'T
00+300°0
00+300°0
£0-36%'6
€0-9£9'T
T0-4SZ'T

UOISIDIP [LIUSWUOIIAUD 3S9q 93 0] 0dT

¥
€J
)

L% [b> N jo a1on]
L1d TeLI}Sa.LI9) - 4]
SV
v
€1V

jusunyreduiod pua suLIEW 31} 0) P INg ‘DA0(E Sy

$0-956°¢-
¥0-4926'T
00+300°0
S0-302°T
00+300°0
00+300°0
+0-302'9
0-4SET
€0-3%2°L

a
¥
€J
)

[baN

10 Y] surrew - 43

L-1d
v
144

€1V

“Jusunreduiod pus I9jemysaj o) SUIYdeal SUOISSIUID SJUSLIINU WIO.1J SUII)SAS0da oL} Jo aSeurep pue seS[e Jo yimols aalssaoxe [enuslod sjuasaidel 1ayemysaj-[enuajod uonedsrydonng

90-A¢h'E-
L0-408T
00+300°0
L0-AST'T
00+300°0
00+3000
90-355°S
90-40%'T
S0-ATH9

¥0-428°8-

¥0-3%9'L

90-400°Z-
L0-A£0'T
00+300°0
80-40%'S
00+300°0
00+300°0
90-4SE'E
L0-ASE9
S0-478°€

$0-4ST'S-
¥0-49€'Y

90-400°Z-
LO-AZT'T
00+300°0
80-4TE8
00+300°0
00+300°0
90-4%Z'E
90-480'T
S0-AT6'E

¥0-4ST'S-
¥0-49L%

90-400°Z-
80-4%6'6
00+300°0
80-409'S
00+300°0
00+3000
90-40Z'%
L0-4£99
S0-3Z0°S

$0-4ST'S-
¥0-427'%

90-4ST'T-
80-48E'L
00+3000
80-4.L9'S
00+3000
00+3000
90-495°C
L0-A%Z'9
S0-36£'S

¥0-496C-

0-HET'E

L0-FLT'6-
80-46%9
00+300°0
80-A%9'S
00+300°0
00+300°0
90-450°C
L0-ATH9
S0-308°C

90-A£H'E-
L0-ASLT
00+300°0
L0-420'T
00+300°0
00+300°0
90-45S°S
90-4£Z'T
S0-ATE9

a
¥
€J

)
['ba 4 81l

10 I29eMYSaT) - 47

L-1d
v
144

€1V

JUlel pioe,, 10 uonysodep poe ay) asned o) [erjusjod ay) spa[Jal [e[IU)0d UOHEDYIPDY 9L

$0-4LET-
¥0-4SLC

%0-928°8-

0-42%'L

a
¥



00+39€%-
00+dLY'T
00+300°0
T0-455F
00+300°0
00+300°0
00+dLT9
00+d.£5'S
TO+H£0'8

80-AT9'E-
80-4S0'T
00+300°0
60-49T°C
00+300°0
00+300°0
80-4.L'8
80-4%9'C
90-A%Z'T

€0-4L0°T-
¥0-402'9
00+300°0
S0-A%S'E
00+300°0
00+300°0
€0-AS¥'T
YO-HLT'Y
Z0-976'T

€0-ASTY-

00+49€¥-
00+3Z%T
00+3000
10-46Z'F%

00+300°0
00+3000
00+3LT9
00+3€£Z'S
TO+H9LL

80-4T9°¢-
80-4T0T
00+300°0
60-4%0'C
00+300°0
00+3000
80-44L'8
80-AL¥'T
90-4TZ'T

€0-4L0°T-
%0-3009
00+300°0
S0-ASE'S
00+300°0
00+3000
€0-4S¥T
$0-3T6'S
Z0-9.8T

€0-AST Y-

00+3+5-
TO-ATT'8
00+300°0
T0-420°C
00+300°0
00+300°0
00+409°€
00+ LET
T0+49T'F

80-40T'Z-
60-4LL'S
00+300°0
0T-4656
00+300°0
00+300°0
80-48¢€'S
80-4ZT'T
LO-AZY'L

$0-4£7'9-
¥0-42%'S
00+300°0
S0-46S'T
00+300°0
00+300°0
+0-482'8
YO-HLLT
£0-968'6

€0-3Z1'Z-

00+3+5-
T0-4.8'8
00+300°0
T0-40T°E
00+300°0
00+300°0
00+409°€
00+4£0'F
T0+48%'S

g1

00+3%5C-
T0-498'L
00+300°0
T0-490°C
00+300°0
00+3000
00+3%L'E
00+38%'C
TO+AEEY

00+39%'T-
T0-428'S
00+3000
TO-ATTZ
00+3000
00+3000
00+3.6T
00+HEET
TO+H6SE

00+39T'T-
T0-4ZT'S
00+300°0
T0-490°C
00+300°0
00+300°0
00+ LST
00+46£C
TO+ATE'E

00+39€%-
00+d8ET
00+300°0
T0-4Z8°E

00+300°0
00+300°0
00+dLT9
00+485F
T0+49Z'L

UOISIDIP [LIUSWUOIIAUD 3S9q 93 0] 0dT

a
4]
£
)
12 [(w] rssoy-dav
L-1d
SV
vV
€1V

*S[ejoul pue s[etaurul jo A)1d.1ess pue uolduinsuod ay) 0} seje[al {(S[eISU pUE S[RISUIUL) S9d.IN0SA. [ISSOJ-UolU .10} [enuajod uonaideq snoiqy

80-40T'Z-
60-ATE9
00+300°0
60-ALY'T
00+300°0
00+300°0
80-4ZT'S
80-406'T
LO-ALEL

¥0-4£2°9-
¥0-3¥L'S
00+300°0
S0-30%'C
00+300°0
00+300°0
$0-49%'8
0-410°E
Z0-9€TT

€0-A2%'Z-

80-40T'Z-
60-465'S
00+300°0
0T-4LL'6
00+300°0
00+3000
80-48€9
80-ALT'T
L0-9£9'8

$0-4£2°9-
$0-dT€'E
00+300°0
S0-HZ9'T
00+300°0
00+3000
$0-412'8
$0-458'T
€0-918'6

€0-4Z%C-

80-ATZ'T-
60-A%T'Y
00+3000
60-400'T
00+3000
00+3000
80-499'F%
80-40T'T
L0-ASEL

¥0-485'¢-
¥0-49%C
00+3000
S0-4£9°T
00+3000
00+3000
0-420%
¥0-4SLT
€0-4459

€0-46€T-

60-459°6-
60-4%9°E
00+300°0
0T-46L6
00+300°0
00+300°0
80-4EL'E
80-AET'T
L0-AET9

80-AT9'E-
60-4£86
00+300°0
60-4Z8'T
00+300°0
00+300°0
80-4.L'8
80-4LT'C
90-46T'T

a
¥
€J

]
[bagas

L 1] {NBI-daV

L-1d
v
144

€1V

‘Sowrs se pajsajiuewl A[UOWIUIOD JSOUI ‘[BIIUI}04 UONIEAI) dUOZQ [eIIWYD0}0Yd

$0-398°C-
¥0-491°C
00+300°0
S0-46S'T
00+300°0
00+300°0
0-41Z'€S
¥0-46LT
€0-9L6'S

€0-4ZTT-

€0-4L0°T-
¥0-428'S
00+300°0
S0-366'C
00+300°0
00+300°0
€0-AS¥'T
Y0-HEY'S
z0-36LT

€0-ASTY-

a
¥
€J

)
[b=2D0AKWN

2 8y] ddod

L-1d
v
144

€1V

eluowwe "§°9 ‘SHUILIINU paseq UdF0IIU "M SWIIISAS0Id [BLI}SI.LI) JO JUSUIYDLIUS .10J 10JeIIPU] '[BLI}S3.LId)-[elJUd}0d Uoyesrydoayng

a



91 UOISIDIP [LIUSWUOIIAUD 3S9q 93 0] 0dT

00+300°0 00+3000 00+300°0 00+300°0 00+3000 00+3000 00+300°0 00+300°0 L1d

£0-A7L'8 £0-9%.'8 £0-4.¥'8 £0-40T'S £0-909'% £0-49€°C £0-368'T £0-9%.'8 sV bo
£0-TH0'T $0-39.L'% PO-AEHF $0-425°Z $0-2£9F PO-4SEY YO-ALbF $0-995' v €20 bar zdul
T0-H08'T TO-HTLT T0-H62'T 10-492'T 20-99.'L Z0-9£€L Z0-487'L T0-HEST €IV

‘sauISus [9salp “§9 ‘w01 19xyewl je[nonied Jo suolssIuL 0) PayUI] (S9oUL.LINDD0) SAIUSPIDUL dSkISIP [eua)od 10} 101edIPUl UY "IoN B ae[mdonted

80-409°S- 80-409°S- 80-ATZ'E- 80-4.L7'¢- 80-470°c- 80-485'T- 80-4LZ°T- 80-409°S- a

60-418'6 60-46%'6 60-AT¥'S 60-426'S 60-4%2'S 60-488°C 60-ATH'E 60-4TZ'6 ¥

00+300°0 00+300°0 00+300°0 00+300°0 00+300°0 00+3000 00+300°0 00+300°0 €J

0T-4LET 0T-422°C 0T-4£0'T 0T-459'T OT-4ST'T 0T-46Z'T 0T-4SZ'T 0T-4%6'T ) Rl
00+300°0 00+300°0 00+300°0 00+300°0 00+300°0 00+3000 00+300°0 00+300°0 10 oseasIq
00+300°0 00+3000 00+300°0 00+300°0 00+3000 00+3000 00+300°0 00+300°0 L-1d d
80-481'8 80-48T1'8 80-49LF 80-HLL'F 80-4%9'% 80-469'C 80-4ST'C 80-48T1'8 v

60-40€'E 60-460°€ 60-40%'T 60-48£C 60-ALY'T 60-48ET 60-4Z%'T 60-ATLT 144

90-42Z'T 90-4TZ'T L0-A%89 L0-AZEL £0-989'9 L0-A8T'F L0-A8%'E 90-46T'T €1V

g asdIpdg [eLasnpuj 9 uIny [esIaArun

sJojedrpul HUNQEM [EIUslIUOJIAUD [EUOTIIPPY

SUI9)SAS0Dd pUE SI13SN UBUINY UWIEI.IISUMOP 0} ADUIIDJIP 193eM 0} Payul] ‘ dsn Jajem Jo pedul [eryuajod ayy 10j 103edipul Juridjooj £)d.1eds 19)em,, € ‘[e[Ud0d uonjealida( 19rem

z0-d£5°E- z0-d€£5'e- 20-390°Z- 20-490°Z- 20-490°C- Z0-A8TT- €0-471'6- z0-d£5°E- a

Z0-36TT Z0-ASTT €0-4559 €0-39T°L €0-9%€'9 €0-ATLY €0-I%T'Y ZO-ATTT ¥

00+300°0 00+300°0 00+300°0 00+300°0 00+300°0 00+3000 00+300°0 00+300°0 €J

$0-498'S $0-3%9°S YO-ATLT ¥0-4€9°C Y0-3vLT ¥0-46LT ¥0-4SLT ¥0-3%Z'S )

00+300°0 00+300°0 00+300°0 00+300°0 00+300°0 00+3000 00+300°0 00+300°0 10 Eh@“ﬂ“ﬂ@&ﬂg
00+300°0 00+3000 00+300°0 00+300°0 00+3000 00+3000 00+300°0 00+300°0 L-1d

20-9€6'L Z0-9€6'L 20-3%9'% Z0-9€9'F 20-928'S Z0-d£LT Z0-38TZ 20-9€6'L v

€0-9EL'Y €0-4EFY €0-9T0°C €0-ATH'E €0-40TC €0-486T €0-9£0°C €0-968'€ 144

00+400°T T0-478'6 T0-480'F T0-4SZ'L T0-A£%'9 T0-426'E€ T0-458°E T0-459'8 €1V

*A13snpul [esruiaydoq}ad a1} 10J }20)Spasd) sk 10 asn A519Us 10J S921n0sal [Issoj Jo uona[dep a3 10 10)edipu] "([eod ‘seS ‘[10) s921N0sal [ISS0] 10} [enIUalod uona[deq snolqy



00+H00°0
00+H00°0
60-41S'S
60-461F
LO-AV6'Y

0T-461°T-
0T-4%Z'T
00+3000
Z1-45%9
00+3000
00+3000
0T-HE1°T
T1-H06°L
60-498°L

T0+AS6T
T0+496T
T0+AS6T
T0+496T
T0+AS6T
T0+AS6T
T0+AS6T
TO+ASTT
T0+H18C

20-422'8-
€0-429'T
00+H00°0
S0-41%'8

00+H00°0

00+3000
00+3000
60-41S'S
60-1€6'C
L0-426F

0T-461°T-
0T-402'T
00+H00°0
Z1-4609
00+H00°0
00+H00°0
0T-4€1C
TT-4T%'L
60-HZS'L

TO+HS6‘T
T0+H96T
TO+HS6‘T
T0+H96T
TO+HS6‘T
TO+HS6T
TO+HS6‘T
TO+HETT
TO+ASLT

20-422'8-
€0-4LST
00+3000
S0-4E6'L

00+3000

00+H00°0
00+H00°0
60-4SZ°E
60-48LT
80-4SY'¥

T1-4659-
11-4289
00+3000
71-498C
00+3000
00+3000
0T-4¥ST
T1-49€°E
60-1£8C

TO+AT0T
TO+AE0T
T0+d20T
T0+d20T
T0+d20T
T0+d20T
T0+d%0T
T0+d60T
TO+HEST

00+H00°0
00+H00°0
60-412°€
60-4£0°E
L0-468'%

T1-446'9-
TT-49%'L
00+3000
Z1-40%'Y
00+3000
00+3000
0T-4%Z'T
TT-H1LS
60-482°9

TO+AVTT
TO+ASTT
TO+AVTT
TO+ASTT
TO+AVTT
TO+AVTT
TO+AVTT
TO+ATET
T0+H20°C

LT

00+300°0
00+300°0
60-46S'E
60-498T
L0-AT9T

00+3000
00+3000
60-480C
60-4SLT
L0-408T

00+H00°0
00+H00°0
60-499'T
60-408T
L0-462'C

00+H00°0
00+H00°0
60-41S'S
60-4SY'E
L0-48€'E

UOISIDIAP [LIUSWUOIIAUS 1S9q 213 JO] (0T

|

L-14

Sy Y.Ly 2u-idLH
(4

€1V

'S[EJIWAYD PUE SIDUE)IS(NS JO SUOISSIWD 3} Wwo.yy djdoad uo spedurl siuaSoudied [eUI0J "SIP9JJd 13dUed - [eyuajod A}DIX0) ueWINHg

TT-HL1'S-
11-7099
00+3000
Z1-926C
00+3000
00+3000
01-492°C
TT-41SE
60-d6%'Y

T1-4%6T-
11-488%
00+H00°0
Z1-300°E
00+H00°0
00+H00°0
01-42%'C
TT-41€E
60-418'S

T1-455°T-
11-462%
00+3000
Z1-9€6C
00+3000
00+3000

01-4%6'T
T1-46€€
60-709'S

0T-461°T-

0T-491°T
00+H00°0
Z1-42v's
00+H00°0

00+H00°0

0T-HE1°T
T1-40S9
60-4509

a

Al

€)

)

| 0] UnL) 2-1dLH
L-14

v

(4
€1V

*S[eDIULAYD/SadURISONS JO SUOISSIUID JO S2IDads 191eMUSa.1J UO S}I9JJ0 DIX0) [B[IUS) 0 "1o)emUsal]-[e[Jualod ANIIX0100q

00+3142'S
00+d€6'S
00+489°S
00+Hd£L'S
00+489°S
00+489°S
00+10S9
00+1889
TO+A8€ET

T0-HVLY-
T0-H2EE
00+H00°0
TO-HLY'T
00+H00°0
00+H00°0
00+H9€T
00+H£9T
T0+406T

T0-46L'E-

T0-416C

00+3000

T0-4¥¥'T

00+3000
00+3000
00+d60T
00+H49T
T0+489T

TO+HS6‘T

T0+H96T
TO+HS6‘T
T0+H96T
TO+HS6‘T
TO+HS6T
TO+HS6‘T
T0+H60°C
TO+HSST

a

Al

€)

)

| 0] 911 MJ-1d.LH
L-14

v

(4
€1V

*A[uo AS19us Jea[onu Jo UoreIsUaS 0) PayUI[ UONBIPEI [949] MO] 0} d1nsodxe wo) yi[esy uewiny o) aSewrep a[qissod sy 0} seje[al [enUal0d Uonelpel Sulziuoy

20-4ES Y-
¥0-4€6'8
00+H00°0
S0-HELE

00+H00°0

20-408%-
¥0-49L6
00+H00°0
S0-d¥LS

00+H00°0

20-41S5'¢-
$0-4%9°8
00+300°0
S0-4Z8°€

00+300°0

A VAAR
¥0-42%9
00+3000
S0-4S6'C

00+3000

20-420°T-
¥0-4%9°S
00+H00°0
S0-498°¢

00+H00°0

20-422'8-
€0-4ZS7
00+H00°0
S0-4S0°L

00+H00°0

a

Al

€)

)

| 0]



81 UOISIDIP [LIUSWUOIIAUD 3S9q 93 0] 0dT

‘uonjelausadal Jeajempunols pue A)jIqe uoneIl) ‘Uolsold "§-9 ‘Ayifenb [1os Sunoedu sioe) Sunyuasaadal 1ojed1pu] ‘[eryuajod Ayend [10S

TO+3S¥T- TO+ASH'T- TO+4£0T- 00+3t%'8- TO+H9LT- TO+A£ST- TO+H2Z°T- TO+3S¥T- a

TO-4L6C T0-448C T0-4%9'T T0-46LT T0-48S'T TO-HLT'T TO-4€0'T T0-48LC ¥

00+300°0 00+300°0 00+300°0 00+300°0 00+300°0 00+3000 00+300°0 00+300°0 €J

TO-HZLT T0-429'T Z0-9€S'L T0-46T'T Z0-380'8 z0-96L'8 z0-36S'8 TO-AZH'T )

00+300°0 00+300°0 00+300°0 00+300°0 00+300°0 00+3000 00+300°0 00+300°0 10 wwm_nﬁcn”wuwms_ﬂ
00+300°0 00+3000 00+300°0 00+300°0 00+3000 00+3000 00+300°0 00+300°0 L-1d

TO+H9ET TO+H9ET 00+d6LL 00+d€6°L 00+3%E6 00+H9L'E 00+dTO‘E TO+H9ET v

00+d£ET 00+H8TC T0-488'6 00+489'T 00+3E0'T TO-AEL'6 T0-466'6 00+dT6T 144

Z0+360°C Z0+3.L0C ZO+ASTT Z0+HLTT Z0+ASET TO+H.Z9 TO+ASE’S Z0+H£0°T €1V

Aepo) uepplq.aoj ale sadueysqns JGO YSIH “1o4e] au0zo ay) Jo uoljepeisap 10] [enpuajod a1 seqLIdSap ‘Tenjusjod uone[deq suozg ayL

60-470°L- 60-420°L- 60-4£8°¢- 60-40T'%- 60-4£8°Z- 0T-400'6- 0T-40Z°L- 60-470°L- a
80-49€T 80-47ET 60-ATSL 60-427'8 60-4LZ°L 60-46£'S 60-97L'Y 80-48Z'T ¥
00+300°0 00+300°0 00+300°0 00+300°0 00+300°0 00+3000 00+300°0 00+300°0 €J

0T-48€'E 0T-48T°E 0T-40S'T 0T-ATET 0T-4%S'T 0T-46S'T 0T-4SS'T 0T-4£8C )



61 UOISIDIAP [LIUSWUOIIAUS 1S9q 213 JO] (0T

J103B21PUT 93 YHM padualiadxa

poMwI] SI 213} Sk 10 Y3IY 1B SINSI.I 3SAY] UO SIUIELIDIUN U} SB 2.IBD YHUM Pasn 2 [[BYS Joledipul Joedwll [EIUSWUOIIAUD ST} JO SINSAI Y[, — Z JouwIepsIq
“103BIIpUI SIY} AQ PAINSEAW 10U OS[E SI S[RLI9IBW UOIINIISUOD WIS WOL] Uk UOPEI WO ‘[I0S 9} WOLJ UOLIBIPEI

Surziuol [e1IU104 "SIMI[IOB] punoldiopun Ul [eSOdSIp 91SEM JA[DBOIPEI 01 9Np Jou aInsodxa [euorednodo ‘SjuapIode Jeadnu a[qissod 03 anp S109J39 I9pISUOD
30U S90P 3] 9[040 [9NJ JBI[ONU 33 JO P[BIY UBWNY U0 UONEIPeI SUIZIUOT 950p MO] JO 1oedwll [BNMIUSAS 911 UMM A[urew s[eap £108a1ed joedw Sy, - T Iowrepsiq

4 (d0s) xopur Aaifenb [1og [enuoiod
Z (ou-d.LH) suewny 1oj U] 91X0 ], daneIedwo)) [enualod
Z (9-d.LH) suewny Joj U J1X0,[, 9anreIedWO) [BIIUI0J
VA (mJ-d LA) SWais£s009 10j U (] JIX0 [, 9Al3eIRdWO) [BIIUI0] ¢ [9a91 / od&a DI
z (dam) uondwnsuos 1arem paiysom-uonearidap Tenualod uonearidap (19sn) J1o3epp
Z (11s03-d V) S22.In0sal [1ssoj Joj [erualod uona(dap onoiqy
Z (s[Erewgs[RIaUIW - V) S901N0S3I [ISS0j-Uuou J1oj [eruaiod uonajdap onoiqy
1 (d¥1) §£Zn 01 sAnE[I AOUDIDIYD 21nsodxd UBWINY [BIIUI0]
JUON (dD0d) auozo sr1aydsodoaa jo [erruaiod uoneWLIO
QUON ([ernsa1103-45) 20UBPa2dXH parenunody ‘Tenuaiod uonesrydonnyg
Z 10491 / 2d&1 @011
QUON (surrew-44) Jusuntedwos pus aurlew Suryoea.l syULLIINU Jo UoRdRI ‘Tenualod uonedrydonyg
QUON (1o3emUysaly-44) wounledwod pua Jayemysay Suryoea.l syualinu jo uondely ‘qenualod uonedsiydoiing
QUON (dv) @ouepaadxy paje[nunooy ‘Tenualod UONEBIYIPIDY
QUON (I d) SuoISSIWa W J 03 9NP ISLISIP JO JDUIPIOUT [BIIUNI0J
JUON (dao) 104e[ auozo or1aydsolenas a jo [enauazod uoneaidag T [9491 / 2d& @D1I
JQUON (dmb) 1ennuazod Surwiem [eqonH

JoWIR[ISI(] J103ed1puU] UOneIYISSEe DI

sJ01ed1pul 10edWI [EIUSWUOIIAUS [BUOIIPPE PUE 310 JO UOTIRIB[DIP 33 01 SISWIRISIP JO UOLBIYISSE[)



07 UOISIDIAP [LIUSWUOIIAUS 1S9q 213 JO] (0T

00+3000 00+H00°0 00+3000 00+3000 00+3000 00+H00°0 00+3000 00+H00°0 €)

20-422'c 20-4%0°€ Z0-dEY'T 20-402°C 20-49%'1 20-40ST 20-49%'1 Z0-H1LT )

00+3000 00+H00°0 00+3000 00+3000 00+3000 00+H00°0 00+3000 00+H00°0 |

00+3000 00+H00°0 00+3000 00+3000 00+3000 00+H00°0 00+3000 00+H00°0 L-14 [(w] ad.L
T0-H48°8 10-4.8'8 T0-H4Z'S T0-H41'S T0-HLS'L T0-4¥Z'E T0-46SC T0-H48°8 v

T0-4%6°E 10-469°€ T0-H49T T0-4¥8C T0-4SLT T0-459T 10-469T T0-4¥2°€ v

TO+HLY'E T0+H9€C TO+HS8T T0+H0Z°C T0+H42T TO+AV¥'T T0+H0€T T0+H0Z°E €1V

-o13se[doiq 10] }D0)Spaa) St SUEBLIPULOL] .10 ‘POOM "5'0 S[ELISTEUL ME.I SE S9D.1N0sa.1 AS1aud Jo uo}duInsuod aY) S8)EIIPUI — S[ELIS}EUL MEI S Pash sad1nosal 4S1auas A1ewiLid sjqemausy

00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 a

00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 Al

00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 €)

00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 )

00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 1] (W] waay
00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 L-14

00+HLLT- 00+HLLT- 00+Hd+0°T- 00+H£0T- 10-485'6- T0-4E1'9- 10-416%- 00+HLLT- v

00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 v

TO+H08T T0+H08T TO+H¥0‘T TO+HS0T TO0+A9TT 00+489°S 00+d¥SY TO+H08T €1V

~1amodolpAy 10 s[[lupuim ‘Dueyjswolg wo.j A8.19us ajqemaus. ‘A[[edrd4 [, "A[uo IaLL1ed AS1auq sk pash AS1auj AleuwiLld S[qemausy

00+3188°¢- 00+H488°¢- 00+465C- 00+H488'¢- 00+492°C- 00+HETT- 10-490°6- 00+365C- a

10-486T 10-416T T0-HEZ'T TO-H48T 10-490T Z0-481'L 20-49€9 T0-4Z€T Al

00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 €)

20-922°¢ 20-4%0°E 20-48S'T 20-426C 20-49%'1 20-4Z%'T Z0-H0%'T 20-4€1°C )

00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 1] [(w] aaday
00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 L-14

00+H99°C 00+d99C 00+H6LT 00+H99°C 00+d2LT T0-40Z'8 10-4959 00+HLLT v

T0-4%6°E 10-469°€ T0-428T T0-419°€ T0-4SLT T0-409T T0-459T 10-429C v

TO+HL9'T T0+H9ST 00+H£8°8 TO+HTST TO+ATTT 00+dT€8 00+H40°8 TO+HTT'T €1V

auym asdipyg anojo) asdipyg [ernsnpuj J9)IuIny [esIaAIuf) ALAC|E| 07Z re1qr V 06§ Inojuo) Iajourered

oS 9J2.IN0S9Y



00+HLY'T
00+H00°0
T0-49S¥
00+H00°0
00+H00°0
00+HS19
00+H6S‘S
T0+H%0°8

00+H00°0
00+H00°0
00+H00°0
00+H00°0
00+H00°0
00+H00°0
10-4%1°T-
00+H00°0
T0-4%9°€

00+H9¢¥-
00+AL¥'T
00+3000
T0-49S¥
00+3000
00+3000
00+d929
00+d6S'S
T0+3008

00+H488°¢-
10-486T

00+dZ%T
00+3000
10-H0E"Y
00+3000
00+3000
00+AST9
00+d%2'S
TO+H9LL

00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
T0-H¥1T-
00+3000
10-4%9°€

00+d9€%-
00+HZ¥'T
00+H00°0
10-H0EY
00+H00°0
00+H00°0
00+H92°9
00+d%2'S
TO+HELL

00+3188°¢-
10-416T

10-421°8
00+H00°0
10-420°C
00+H00°0
00+H00°0
00+H8S°E
00+H8€T
T0+d91¥

00+H00°0
00+H00°0
00+H00°0
00+H00°0
00+H00°0
00+H00°0
20-429'9-
00+H00°0
10-421°C

00+Hd¥SC-
10-421°8

00+3000
10-420°C

00+3000
00+3000
00+d%9°C
00+H18€T
T0+AVTY

00+H492°C-
T0-460°T

T0-H48°8
00+H00°0
T0-H11°E
00+H00°0
00+H00°0
00+H6S°E
00+d%0¥
T0+H8%'S

1¢

T0-498'L
00+300°0
10-490C
00+300°0
00+300°0
00+d¥LE
00+348%C
TO0+ASEY

T0-4€8'S
00+3000
T0-421°C
00+3000
00+3000
00+4£6T
00+dV€T
T0+A19°C

T0-421°S
00+H00°0
T0-H£0C
00+H00°0
00+H00°0
00+d¥ST
00+H0%'T
T0+HZEE

sonyse[d / A13snpul [estwaypoq}ad o) 10} [ELI9IRUL HD0)SPID] SB PAsh S9JeIAdP [1O

00+H00°0
00+H00°0
00+H00°0
00+H00°0
00+H00°0
00+H00°0
20-429'9-
00+H00°0
10-421°C

00+H4¥%S'Z-
T0-H48°8
00+3000
T0-H11°E
00+3000
00+3000
00+159°C
00+3%0%
T0+49%'S

00+492°Z-
T0-461°T

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
20-429'9-
00+300°0
10-421°C

00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
20-48L'¢-
00+3000
T0-H12T

00+H00°0
00+H00°0
00+H00°0
00+H00°0
00+H00°0
00+H00°0
20-4£0°¢-
00+H00°0
20-H0L6

00+H8ET
00+H00°0
T0-4E8°E
00+H00°0
00+H00°0
00+HS19
00+d09%
TO+HLZ L

UOISIDIAP [LIUSWUOIIAUS 1S9q 213 JO] (0T

D
€
i)
10
[(w] adaL
L-14
SV
a4

€1V

-8'9 ‘s[eL19jeUl MBI S Pash S32.1nosal AS1aua Aleuilid sjqemaual-uoN

00+H00°0
00+H00°0
00+H00°0
00+H00°0
00+H00°0
00+H00°0
10-4%1°T-
00+H00°0
T0-4%9°€

a
D

€

4}

10 [(W] WaaN
L1d

SY

A
€1V

uonjeyodsueny 1o syuejd 1omod [onj [Isso} wod) £819us “8'9 “IaL11ed AS19U7 Sk pasn AS1aua A1ewlid sjqemaual-uoN

00+d¥%5C-
10-498°L
00+3000
10-490C
00+3000
00+3000
00+108°¢
00+48%C
T0+AZEY

00+H492°C-
10-490T

00+d9%T-

T0-4£8'S
00+H00°0
T0-421°C
00+H00°0
00+H00°0
00+HL6T
00+H¥€T
T0+H09°E

00+462T-
20-4¥8'L

00+H91°T-
T0-4Z1'S

00+3000
T0-4L0C

00+3000
00+3000
00+HLST
00+40%C
TO+ATES

00+Hd+0°T-
20-4689

00+d9€%-
00+H8ET
00+H00°0
T0-4E8°E
00+H00°0
00+H00°0
00+H92°9
00+d09%
TO+HET L

a
D

€

4}

10 (W] aduN
L1d

SY

A
€1V

(NAd+TAd¥) sedanosad £310ue Arewrid ajgemaual Jo asn [e10],

00+3188°¢-

T0-498T

a
Al



00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0

00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0

00+39€%-

00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0

00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0

00+49€¥-

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
20-992'S
00+300°0
TO-ATSL

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0

<c

00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0

00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
T0-48Z°E
00+3000
00+389%

UOISIDIP [LIUSWUOIIAUD 3S9q 93 0] 0dT

00+300°0 00+300°0 a

00+300°0 00+300°0 2]

00+300°0 00+300°0 £

00+300°0 00+300°0 20

00+300°0 00+400°0 10 [(w] 4suN
00+300°0 00+300°0 L1d

10-429°7 00+400°0 SV

00+300°0 00+300°0 v

00+3bL'E 00+300°0 €1V

*safe)Ioys a)eald ued A[[enjusjod uonndunsuod pasealdul 9sNEIAQ 92INOSII payul] & Juasaldal ued sjony ATepuodss sjqemausy ‘[1o SulL1} pasn ‘8- 's[on}] ATepuodas a[qemausy

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0

€0-3LL'S-
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0

00+3+5-

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0

00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0

00+3+5-

00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0

00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
00+3000

00+3%5C-

00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
00+3000

Z0-409°¢-
00+4000
00+300°0
00+4000
00+300°0
00+4000
00+300°0
00+4000
00+300°0

00+39%'T-

00+300°0 00+300°0 a

00+300°0 00+300°0 2]

00+300°0 00+300°0 £

00+300°0 00+300°0 20

00+400°0 00+400°0 10 [(w] as4
00+300°0 00+300°0 L1d

00+300°0 00+400°0 SV

00+300°0 00+300°0 v

00+300°0 00+300°0 €1V

[oOM WINjal "5 ‘[eLIa)eWl PA[dADal JO 9snh ‘S[eLId)eul ATepUOIIS

z0-988Z- 00+300°0 a

00+300°0 00+300°0 4]

00+300°0 00+300°0 £

00+300°0 00+300°0 )

00+300°0 00+300°0 12 [3:1] s
00+300°0 00+300°0 L-1d

00+300°0 00+300°0 SV

00+300°0 00+300°0 vV

00+300°0 00+300°0 €1V

(NJIN+IJYN) se21nosal AS1aus Alewrid sjqemausi-uou Jo asn [e}0],

00+39T'T- 00+39€%- a



€7 UOISIDIAP [LIUSWUOIIAUS 1S9q 213 JO] (0T

00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 |

00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 L-14

T0-4£9°S 10-4€9'S 10-482°¢C 10-462°C 10-HEZ'E T0-H.8T T0-46%'T 10-4€9'S v [831] MHN
¥0-4€0°8 $0-4ESL Y0-42¥'¢ ¥0-408'S Y0-4LSE ¥0-49€C Y0-4S¥'E $0-4199 (4

00+HEY'T 00+AT¥'T TO-HLLE 00+H0Z'T T0-4T0°S 10-46%'S 10-490°9 00+HZT'T €1V

JuduIIeaI) [BIDAdS JUSS pue PalIJ[[0d ‘d)Sem SnopIezey

60-415C- 60-415°C- 60-18%'1- 60-HLV'T- 60-HLY'T- 0T-4¥€'6- OT-HLY'L- 60-415°C- a

0T-49ST 0T-41ST 11-409'8 T1-41%'6 TT-4€€8 T1-4819 T1-4E¥'S 0T-49%'T Al

00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 €)

Z1-469T Z1-46ST €1-48Y'L Z1-4ST'T €1-479°L €1-4S8'L €1-499°L T-HZY'T )

00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 | [331] mH
00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 L-14

80-489°6 80-189'6 80-48S‘S 80-459'S 80-499'S 80-48LC 80-H£Z°C 80-189'6 v

T1-490C T1-9€6'T C1-HLL'8 T1-46%'T Z1-4L1'6 Z1-979'8 Z1-4v8'8 TT-H0LT (4

90-49€T 90-49€T L0-428'L LO-AV6'L LO-AV6'L L0-406C LO-AET'E 90-49€T €1V

a1y m asdipg [eLnsnpuj daqruny [esIoATUf) (YA CACIE (YALAGIE]

a1se - (10d) 9411 Jo pud

saSel10ys [ed0] 9)ea1d UkD 191eMm UsaJj Jo uoryduinsuod ySiy asnesaq 92.1n0sal payUIL] & SI .1a)em ysa.lq ‘uondunsuod 1a)emysaly 1aN

€0-416T- €0-416'T- €0-dT1T- €0-HT1°T- €0-H11'T- ¥0-49€9- ¥0-460°S- €0-416T- a

¥0-429°¢ $0-41S°E ¥0-400C ¥0-461C ¥0-4v6'T YO-Av¥T 0-492°T 0-40%'¢ Al

00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 €)

S0-4¥SE S0-4¥ €€ SO-HLST S0-HZ¥'T S0-709T S0-459T S0-H19T S0-486C )

00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 1] [ew] m
00+H00°0 00+3000 00+H00°0 00+H00°0 00+300°0 00+3000 00+H00°0 00+H00°0 L-14

€0-708C €0-108C €0-4£9'T €0-4£9'T €0-4L1C ¥0-4£9°8 ¥0-406'9 €0-708C v

Y0-A¥EY $0-4L0F ¥0-4S8T Y0-Av1'g $0-4£6'T ¥0-428T 0-448T Y0-4LS'E v

20-40Z°¢ 20-4¥1°E 20-449'T 20-H01°C 20-48%'C Z0-4S1T 20-4%0°T 20-486C €1V

[10 d)sem "5'9 ‘s[an} ATepU0IaS S[EMIUDI-UON



00+300°0

00+300°0

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0

00+300°0

oy M asdipy

$0-362°7-
S0-A%S'T
00+300°0
L0-968'S
00+300°0
00+3000
S0-4€0F
90-46T'L
$0-3£8°6

€0-9%9°¢-
00+dZEL
00+300°0

S0-4459

00+3000

00+3000

00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000

00+300°0

.mojo) asdipyg

¥0-462°C-
S0-46%T
00+300°0
£0-499°S
00+300°0
00+300°0
S0-4£0%
90-45L9
¥0-3%06

€0-A%9°¢-
00+380°L
00+300°0

S0-ATZ9

00+300°0

00+300°0

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0

00+300°0

00+300°0

[eLnsnpuy

0-ATET-
90-48%'8
00+300°0
L0-429°C
00+300°0
00+3000
S0-369°€
90-490°¢
¥0-40T9

00+300°0

00+300°0

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0

00+300°0

00+300°0

00+300°0

9 uIny

0-d¥ET-
90-48Z'6
00+300°0
L0-420'F
00+300°0
00+3000
S0-AS€'T
90-46T'S
O-HET'L

00+3000

00+300°0

00+300°0

00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000

00+300°0

[esIaArun

$0-d1ET-
90-41Z'8
00+3000
L0-L9°C
00+3000
00+3000
S0-A8€C
90-40Z°€
$0-36T'F

00+3000

00+3000

00+300°0

00+300°0

00+300°0

00+300°0

UOISIDIP [LIUSWUOIIAUD 3S9q 93 0] 0dT

v
[8:1] aw
€1V

*ATepunoq Wa)sAs al) SpIsINO pasn-al a1k yoIym sjusuoduiod 1o s[eLIs)e]y ‘9sn-9y 10] sjusuoduro)

00+3000

00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
00+3000

00+3000

S [e1qid

S0-A%9°L-
90-40T9
00+300°0
LO-AELT
00+300°0
00+4000
S0-AEET
90-AT0'E
$0-490°S

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0

00+300°0

00+300°0

00+300°0

0c [e1qiq

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0

00+300°0

V 0S Inojuo)

a

4]

£

)

12 [31] w0
L-1d

SV

vV

€1V
Iajouwe.req

mo[j ndino - (704) 3411 jo pud

sjue|d 1amod 1eapnu uio.y 3)sem sjuasaidal Aurep ‘pasodsiq a3sepy dA1OROIPRY

S0-ATT9-
90-49€'S
00+3000
L0-4L9C
00+3000
00+3000
S0-490°T
90-480°€
¥0-4TT'S

$0-362°7-
S0-A¥H'T
00+300°0
L0-996'F
00+300°0
00+300°0
S0-4€0F
90-426'S
$0-418'L

a
4]

£

)

10 [341] .my
L-1d

SV

vV
€1V

*8uI[9409.1 10 9SNa.J 0} JUSS SI UOIIOIL.IJ PISEI.IIUI UY [[IJPUR] 0} Juas sI A[[ed1d£) Jey) a)sem uondONIISUOD “§9 3)sem (}1aul) aAnldeUl JO SISISU0D pasodsi( d)sepy SNOp.IeZeH-UON

€0-37L°C-
00+3%0'F
00+300°0

S0-976'C

€0-47T'Z-
00+4Z%'¥
00+300°0

S0-d6%'F

€0-4ZTC-
00+HT6'E
00+300°0

S0-1.6'C

€0-426%-
00+306C
00+3000

S0-450°S

€0-9¥%6°¢-
00+45SC
00+300°0

S0-86'C

€0-A%9°¢-
00+4889
00+300°0

S0-3£S'S

a

¥

€J

)



T0-496'6
00+3000
00+300°0

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
T0-495F
00+300°0

00+300°0

00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0

TO-HLL'S

T0-496'6
00+300°0
00+300°0

00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
T0-495%
00+3000

00+300°0

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0

00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000

TO-ALL'S

T0-A18'S
00+3000
00+300°0

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
T0-499°C
00+300°0

00+300°0

00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0

00+300°0
00+300°0
€0-3LL'S
00+300°0
00+300°0
00+300°0

TO-HLEE

T0-A18'S
00+3000
00+300°0

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
T0-499°C
00+300°0

00+300°0

00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
00+300°0

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0

TO-HLEE

T4
T0-418'S
00+3000
00+300°0

00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000
T0-499°C
00+3000

00+300°0

TO-4ZEE
00+4000
00+3000

00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
T0-42ST
00+3000

00+3000

T0-499°C
00+3000
00+3000

T0-496'6
00+300°0
00+300°0

UOISIDIP [LIUSWUOIIAUD 3S9q 93 0] 0dT

SvY
v [8x] aLa
€1V

seS [[IJpue] 10 9)Sem Jo UO[IRIdUIDUL Wo.d) AS1aua [EdLIIDD[] :AS10Uo [edLI[e parlodxy

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
T0-42Z'T
00+300°0

00+300°0

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
T0-495%
00+300°0

00+300°0

a
4]

£

)

12 [84] 333
L-1d

SV

vV

€1V

Axepunoq wa)sAs ay) apisIno s[anj A1epuodas se syuejd 1omod ul pazi[IIn s[eL1dje]y "A194009Y AS19ud .10} S[ELISYE]

00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
00+300°0

00+300°0
00+3000
00+300°0
00+3000
00+300°0
00+3000

TO-ALE'E

00+300°0
00+4000
00+300°0
00+4000
00+300°0
00+4000
00+300°0
00+4000
00+300°0

00+3000
00+3000
Z0-309°€
00+3000
00+3000
00+3000

T0-426T

00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
00+3000
00+3000

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0

a
4]
£
)
12 [31] g
L-1d
SV
vV
€1V

Axepunoq wa)sAs ay) 9pISIN0 pa[r4da.l s[eL1ajely “Sulp£d9Y .10] S[BLIS)eN

00+300°0
00+300°0
70-988'C
00+300°0
00+300°0
00+300°0

TO-A%S'T

00+300°0
00+300°0
00+300°0
00+300°0
00+300°0
00+300°0

TO-4LL'S

a
¥
€J
)
10

L-1d

v



97 UOISIDIAP [LIUSWUOIIAUS 1S9q 213 JO] (0T

20D J0 Z1/¥¥ 03 3us[eaInbs st uoqaed orusgolq 8YT - HLON«

Suidexped

. . . ‘ ‘ ‘ . . . 3 Surfuedwodse
10-d6C't 10-467F 10-467F 10-405°C 10-405°C 10-405°C 10-4€¥T 10-4¥1°1 10-d6C't Joq a1 U JU9IU0D

uoq.red sruagorg

— — — — — — — — — 3 1onpo.d uf JUdIUod
Z0-A1%'Y Z0-A1YY 20-4TH%Y 20-49%'Z 20-4LST 20-4L8% £0-466'L £0-46£9 Z0-d1HY D3y woques >rusdorg

SHUM ANoro) RLIISNIpU Jajrum BSI3AIU LEAL S eIqr JINOJUOo! 1414 JHOIH0D
osdipd ssdipa [ernsnpuj Jungy [ rup Sz [e1qid (YA CACIE V 0S Anojuo) un woqIes uaforg

a1ed A10308] 91} 1B JUIJU0D UO0(.Ied d1uagdolq a3 SUIqLIDSIP UOTIRULIOJU]

seS [[Jpue] 10 9)Sem JO UONRISUIUL WO.dJ UIed)s 59 ‘AS1aua [euLiay ], "AS10us [euLIal]) pallodxsy

00+3000 00+H00°0 00+3000 00+3000 00+3000 00+H00°0 00+3000 00+H00°0 a
00+3000 00+H00°0 00+3000 00+3000 00+3000 00+H00°0 00+3000 00+H00°0 Al
00+3000 00+H00°0 00+3000 00+3000 00+3000 00+H00°0 00+3000 00+H00°0 €)
00+3000 00+H00°0 00+3000 00+3000 00+3000 00+H00°0 00+3000 00+H00°0 )
00+3000 00+H00°0 00+3000 00+3000 00+3000 00+H00°0 00+3000 00+H00°0 | 0]

00+3000 00+H00°0 00+3000 00+3000 00+3000 00+H00°0 00+3000 00+H00°0 L-14



Additional Norwegian requirements

Location based electricity mix from the use of electricity in the manufacturing

National production mix from import, low voltage (production of transmission lines, in addition
to direct emissions and losses in grid) of applied electricity for the manufacturing prosess
(foreground/core) per kg of declared unit. The chosen datasets are taken from LCA FE, 2023.1.

—— o Foreground / core GWPtotal (kg COz - o »
National electricity grid [KWh| eq/KWh) SUM (kgCOz - eq)

Electricity grid mix, Poland 3,18E-01 8,14E-01 2,59E-01

Electricity grid mix, Netherlands 3,59E-01 4,16E-01 1,49E-01

Guarantees of origin from the use of electricity in the manufacturing phase

The guarantee of origin utilized in this EPD is provided by AXPO for biomass and wind power in
Poland and hydro and wind power in the Netherlands. As 100% of the electricity consumption is
covered with GoO, no residual mix calculation has been made for these two factories.

GWPtotal (kg

Foreground / core

SUM (kgCO2
(kWh] €0z -

Electricity source - eq)
eq/kWh) 4

Amount of guarantee of origin electricity used in the

foreground (Electricity, Biomass power, Poland) 7.87E-02 #35E-02 3,42E-03
Amount of guarantee of origin electricity used in the

foreground (Electricity, Wind power, Poland) 2,39E-01 1,23E-02 2,94E-03
Amount of residual mix electricity used in the foreground, 0 i 0
Poland

Amount of guarantee of origin electricity used in the

foreground (Electricity, Hydro power, Netherlands) 1,228-01 544E-03 1,29E-03
Amount of guarantee of origin electricity used in the

foreground (Electricity, Wind power, Netherlands) 2,37E-01 1,06E-02 2,51E-03
Amount of residual mix electricity used in the foreground, 0 i 0

Netherlands

EPD for the best environmental decision 27



7 UOISIDIOP [RIUSWIUOIIAUD 1S9q 93 J0J 0dHT

ba-4 se paiepa Juswiedurod pua 1ajemysaly Suryosead sjusLnu jo uondely ‘renuajod uonesiydoiyng

$0-3t9°T- ¥0-4%9°T- S0-455°6- S0-495°6- S0-405°6- S0-A¥¥'S- S0-ASED- ¥0-4%9°T- a

S0-36T'L S0-4569 S0-496'€ S0-AEE'Y S0-I%8'S S0-458°C S0-30S'Z S0-3SL9 ¥

00+300°0 00+300°0 00+300°0 00+300°0 00+300°0 00+3000 00+300°0 00+300°0 €J

90-4£0°L 90-4599 90-A%T'E 90-4LLY 90-4TZ'E 90-46T'E 90-ATT'E 90-4%6'S )

00+300°0 00+300°0 00+300°0 00+300°0 00+300°0 00+3000 00+300°0 00+300°0 10 umummmw.wﬂw_mwwrm
00+300°0 00+3000 00+300°0 00+300°0 00+3000 00+3000 00+300°0 00+300°0 L-1d

$0-428C $0-328C ¥0-3%9'T $0-499°T $0-369'T S0-3068 S0-HZT'L $0-928C v

SO-ATEY S0-492% S0-A£€'T S0-4£9°C S0-40%C S0-H40T'T 90-4556 S0-49T% 144

€0-45%'S €0-98¢€'S €0-970°€ €0-962°¢ €0-992'¢S €0-HLLT €0-30S'T €0-382°S €1V

uonepIxo snosuejueysui jo s[dourid sy 03 Surpiodoe pajernores [enpusjod SuruLrem reqon

10-455°2- 10-4552- 10-26%'T- 10-46%T- 10-46%T- z0-9t5'8- 70-3£8°0- T0-4552- a
T0-4TT'T 10-4£0°T 20-921°9 20-4699 20-976'S z0-20¥% z0-498's 10-440°T %)
00+400°0 00+300°0 00+400°0 00+400°0 00+300°0 00+300°0 00+400°0 00+400°0 £
Z0-ATH'E z0-972's Z0-9TST 70-92£°C 20-THS'T 70-485T 70-45ST 20-948°C 2
00+400°0 00+300°0 00+400°0 00+400°0 00+300°0 00+300°0 00+400°0 00+400°0 10 [b> z0o 34]
290I-dMD
00+00°0 00+300°0 00+00°0 00+00°0 00+300°0 00+3000 00+00°0 00+00°0 L-14
10-460°9 10-460°9 T0-425°E T0-4SS'E 10-4227°S T0-4L6'T 70-485°T 10-460°9 2%
10-481°Z 70-4STZ T0-4LT'T T0-4E€T 10-9T2°T 70-9€5°S z0-928'% 10-40T°Z v
00+4TSZ 00+3SEL 00+440'Y 00+49.Y 00+HL5'E 00+390°€ 00+469°7 00+480°Z A
aMym asdipg | nojo) asdipy [eLasnpuj 231Ny [eSI9ATUN) SZ [eaqrg 07 [eaqrg V 05 Inojuo) I219Weled

‘ba-d se pare[oap os[e SI 1ayemysatj-44q ‘Uonippe uj ‘uone[siga] Juswaindoid

a1qnd ysipams 03 3xa3u00 ul HHH-dMD Se 03 pa.Lisjal os[e SI DF0[-dMD ‘uonepixo snoauejueisul jo adourid ayy 03 Suip.10doe paje[nofed syoedur
aewl o Saleap A se paainbai st DgO[-dMD 103edrpul ayy 9oeduwir sjew[o 03 UONNQLIIUOD UOqled duagdolq jo Aouadedsue.) ay) 9sea.oul 03 19p.1o U|
sy1onpoad uononIIsuod Joj y Med YDdN Ul patmbaua siojedrpul 10edwl [BJUSWUOIIAUD [BUOTHIPPY



Hazardous substances

The declaration is based upon reference to threshold values and/or test results and/or material
safety data sheets provided to EPD verifiers. Documentation available upon request to EPD
owner.

The product contains no substances given by the REACH Candidate list or the Norwegian
priority list.

O The product contains substances given by the REACH Candidate list or the Norwegian
priority list that are less than 0,1 % by weight.

O The product contain dangerous substances, more then 0,1% by weight, given by the
REACH Candidate List or the Norwegian Priority list, see table.

O The product contains no substances given by the REACH Candidate list or the Norwegian
priority list. The productis classified as hazardous waste (Avfallsforskiften, Annex III), see
table.

Mineral wool fibres produced by ROCKWOOL are classified as non-hazardous under /REACH/
2082 on classification, iabelling and packaging cf substances and mixturzsy ROCKWOOL sre
registered with /REACH/ under the following definition: “Man-made vitreous (silicate) fibres
with random orientation with alkaline oxide and alkali earth oxide (Na;0+K,;0+Ca0O+MgO+Ba0)
content greater than 18% by weight and fulfilling one of the Note Q conditions”. ROCKWOOL
products produced in Europe fulfil the Note Q requirements. This is certified by the independent
certification body /EUCEB/ (European Certification Board for mineral wool products). More
information on EUCEB can be found at /www.euceb.org/.

Indoor environment
The product meets the requirements for low emissions.

EPD for the best environmental decision 29



Bibliography

1SO 14025:2010
1SO 14044:2006
EN 15804:2012+A2:2019
150 21930:2007
EN 13162:2008

EN 13964

EN ISO 10848-2

ENISO 717-1
LCA FE

I1SO 15686 1-11

PCR

PCR

Nikolaos Emmanouil

Larisa Xanthopoulou

Environmental labels and declarations - III environmental

declarations - Principles and procedures

Type

Environmental management - Life cycle assessment - Requirements and
guidelines

Sustainability of construction works - Environmental product declaration
- Core rules for the product category of construction products

Sustainability in building construction - Environmental declaration of
building products

Sustainability in building construction - Environmental declaration of
building products Thermal insulation products for buildings. Factory
made mineral wool (MW) products.

EN 13964:2014, Suspended ceilings. Requirements and test methods.

EN [SO 10848-2:2017, Acoustics — Laboratory and field measurement of
flanking transmission for airborne, impact and building service equipment
sound between adjoining rooms— Part 2: Application to Type B elements
when the junction has a small influence

EN ISO 717-1:2013, Acoustics — Rating of sound insulation in buildings
and of building elements — Part 1: Airborne sound insulation.

Sphera Solutions GmbH: LCA FE, Version 10.7.1.28, life cycle inventory
data documentation content version 2023.1

Series of standards for service life planning.

NPCR Part A Construction products and services

NPCR 012:2018 version 2. Part B for Thermal insulation products
Background LCA report for ROCKFON EPDs, Sept. 2023

ROCKWOOL Rules for publishing EPDs, ver.3, December 2021

@ epd-norway

Global Program Operator

Program Operator

The Norwegian EPD Foundation tf +47 23088000
Post Box 5250 Majorstuen, 0303 Oslo | e-post: post@epd-norge.no
Norway web www.epd-norge.no

@ epd-norway

Global Program Operator

Publisher

m Rockfon

The Norwegian EPD Foundation tf +47 23088000
Post Box 5250 Majorstuen, 0303 Oslo | e-post: post@epd-norge.no
Norway web www.epd-norge.no
| Owner of thedeclaration | |
Kasper Vibaek tf +45 6194 64 24
Rockfon e-post: kasper.vibaek@rockfon.com
Hovedgaden 501, 2640 Hedehusene,
Denmark web www.rockfon.com

FN ROCKWOOL

Author of the life cycle assessment

Nikolaos Emmanouil tif +4541 72 26 88
ROCKWOOL A/S e-post: info@rockwool.com
Hovedgaden 584, 2640 Hedehusene,

web www.rockwool.com
Denmark

EPD for the best environmental decision

30




Global
Program
Operator

@ _
© epd-norge




